pol = A=
\Q& % subtragdo de fragdes (0 mesmo denominador)

Nome: Encontro: Data: Pontuagao:
7 1_ 12
2 2 4 4
3 2. 6_5_
8 8 4 4
> 1 T_4_
3 3 9 9
4 2 2 1
3 3 7
[ 7_3_
9 9 2 2
4 3 5_3_
8 8 6 6
3 2 1 2
R - —Z =
4 4 3 3
S 2 T_3_
77 9 9
> 2 6_3_
8 8 5 5
7ol 6_3_
6 6 8 8
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i e
\g % 4 subtragdo de fragdes (o mesmo denominador)

Nome: Encontro: Data: Pontuacao:
7 1 1 2 3

2 270 137373

3 2 1 6 5 1

8 8 8 4 4 4

5 1_4_ 1 7 4 1

3 3 3 3 9 9 3

4 2 2 2 1 1

3 3 3 7 7 7
7.5 2 73,

9 9 9 2 2
431 531

8 & 8 6 6 3

3 2 1 1 2 5 2
i 2--S=2=1%
4 4 4 3 3 3 3
523 7.3 _4

7 7 7 9 9 9
523 633

8 8 8 5 5 5
7_1_, 6_3_3

6 6 8 8 8
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